

DEPARTMENT OF PURCHASING AND CONTRACTING

ITB Number: 22-101488

ITB Name: Consent Decree: Find and Fix Assessment and Rehabilitation (CD:FFAR) [Multiyear Contract]

BID TABULATION

Bid Opening: February 1, 2023 @ 3:00 PM Price Schedule Opening: February 22, 2023 @ Agent Name: Doncella Avery

		Agent Name: Doncella Avery												
					VENDOR NAME		VENDOR NAME		VENDOR NAME		VENDOR NAME		VENDOR NAME	
Item No. Specification No.		Item Description		Unit of Measure	Kemi Construction Company, Inc.		Southeast Pipe Survey, Inc.		Inliner Solutions, LLC		GS Construction, Inc.		SD&C, Inc.	
					Unit Price	Extended Bid Price	Unit Price	Extended Bid Price	Unit Price	Extended Bid Price	Unit Price	Extended Bid Price	Unit Price	Extended Bid Price
		Division 1 - General Requirements												
1	01015-01	Work Zone Staging and Traffic Control: FC 17-Collector Street (per link)	15	EA	\$12,000.00	\$180,000.00	\$5,900.00	\$88,500.00	\$12,000.00	\$180,000.00	\$5,000.00	\$75,000.00	\$5,900.00	\$88,500.00
2	01015-02	Work Zone Staging and Traffic Control: FC 16-Minor Arterial Street (per link)	30	EA	\$7,500.00	\$225,000.00	\$7,905.00	\$237,150.00	\$15,500.00	\$465,000.00	\$7,500.00	\$225,000.00	\$7,900.00	\$237,000.00
3	01015-03	Work Zone Staging and Traffic Control: FC 14-Urban Principal Arterial Street (per link)	15	EA	\$12,000.00	\$180,000.00	\$13,208.00	\$198,120.00	\$23,000.00	\$345,000.00	\$10,000.00	\$150,000.00	\$13,200.00	\$198,000.00
		GPS Data Collection and CCTV Inspection												
4	01056-01	GPS Locate and Data Collection / Manhole (Level 1)	50	EA	\$750.00	\$37,500.00	\$177.00	\$8,850.00	\$225.00	\$11,250.00	\$500.00	\$25,000.00	\$350.00	\$17,500.00
5	01056-02	GPS Locate and Data Collection / Manhole (Level 2)	100	EA	\$950.00	\$95,000.00	\$205.00	\$20,500.00	\$260.00	\$26,000.00	\$600.00	\$60,000.00	\$400.00	\$40,000.00
6	01510-01	CCTV for Pipe Inspection ≤ 8" Diameter Pipe	2,000,000	LF	\$4.00	\$8,000,000.00	\$3.60	\$7,200,000.00	\$5.00	\$10,000,000.00	\$5.00	\$10,000,000.00	\$4.50	\$9,000,000.00
7	01510-02	CCTV for Pipe Inspection > 8" and ≤ 18" Diameter Pipe	242,000	LF	\$7.00	\$1,694,000.00	\$4.30	\$1,040,600.00	\$5.25	\$1,270,500.00	\$11.00	\$2,662,000.00	\$6.00	\$1,452,000.00
8	01510-03	CCTV for Pipe Inspection > 18" and ≤ 24" Diameter Pipe	20,000	LF	\$10.00	\$200,000.00	\$5.00	\$100,000.00	\$6.50	\$130,000.00	\$20.00	\$400,000.00	\$8.00	\$160,000.00
9	02956-01	Remove Protruding Lateral	75	EA	\$1,000.00	\$75,000.00	\$412.00	\$30,900.00	\$1,400.00	\$105,000.00	\$1,024.00	\$76,800.00	\$1,300.00	\$97,500.00
10	02530-01	Sewer, Internal Pipe Inspection (Push Camera), Service Lateral, 4" to 8" Diameter	25	EA	\$1,500.00	\$37,500.00	\$1,766.00	\$44,150.00	\$250.00	\$6,250.00	\$2,050.00	\$51,250.00	\$2,500.00	\$62,500.00
11	01510-04	CCTV PRE-Inspection ≤ 8" Diameter Pipe	475,200	LF	\$5.00	\$2,376,000.00	\$2.00	\$950,400.00	\$5.50	\$2,613,600.00	\$5.00	\$2,376,000.00	\$2.60	\$1,235,520.00
12	01510-05	CCTV PRE-Inspection > 8" and ≤ 18" Diameter Pipe	80,000	LF	\$7.00	\$560,000.00	\$3.00	\$240,000.00	\$5.00	\$400,000.00	\$11.00	\$880,000.00	\$3.00	\$240,000.00
13	01510-06	Sonar/TISCIT Survey ≥ 18" and ≤ 24" Diameter Pipe	200,000	LF	\$10.00	\$2,000,000.00	\$6.00	\$1,200,000.00	\$7.25	\$1,450,000.00	\$9.00	\$1,800,000.00	\$6.00	\$1,200,000.00
14	01510-07	Sonar/TISCIT Survey ≥ 24" and ≤ 36" Diameter Pipe	100,000	LF	\$10.00	\$1,000,000.00	\$7.00	\$700,000.00	\$8.75	\$875,000.00	\$9.00	\$900,000.00	\$6.00	\$600,000.00
15	01510-08	Sonar/TISCIT Survey > 36" Diameter Pipe	50,000	LF	\$10.00	\$500,000.00	\$7.00	\$350,000.00	\$9.00	\$450,000.00	\$9.00	\$450,000.00	\$6.00	\$300,000.00
		Sewer Flow Control												
16	01520-01	Bypass Pumping ≤ 12" Diameter Pipe with Flow >25% and <50%	5,500	LF	\$90.00	\$495,000.00	\$85.00	\$467,500.00	\$15.00	\$82,500.00	\$185.00	\$1,017,500.00	\$85.00	\$467,500.00
17	01520-02	Bypass Pumping ≤ 12" Diameter Pipe with Flow ≥50%	2,750	LF	\$90.00	\$247,500.00	\$90.00	\$247,500.00	\$25.00	\$68,750.00	\$200.20	\$550,550.00	\$90.00	\$247,500.00
18	01520-03	Bypass Pumping > 12" and \leq 36" Diameter Pipe with Flow >25% and <50%	7,500	LF	\$90.00	\$675,000.00	\$130.00	\$975,000.00	\$100.00	\$750,000.00	\$222.00	\$1,665,000.00	\$130.00	\$975,000.00
19	01520-04	Bypass Pumping > 12" and ≤ 36" Diameter Pipe with Flow ≥50%	3,750	LF	\$95.00	\$356,250.00	\$150.00	\$562,500.00	\$145.00	\$543,750.00	\$258.00	\$967,500.00	\$150.00	\$562,500.00
20	01520-05	Bypass Pumping Maintenance & Operation (All Sizes)	500	HR	\$600.00	\$300,000.00	\$450.00	\$225,000.00	\$200.00	\$100,000.00	\$700.00	\$350,000.00	\$450.00	\$225,000.00
		Division 2 - Site Work												
		Access Route and Easement Clearing												
21	02110-01	Construction Entrance/Exit, Installation and Removal	25	EA	\$5,200.00	\$130,000.00	\$3,302.00	\$82,550.00	\$5,000.00	\$125,000.00	\$2,500.00	\$62,500.00	\$3,300.00	\$82,500.00
22	02110-02	Construction Entrance/Exit, Installation Only	10	EA	\$4,500.00	\$45,000.00	\$2,001.00	\$20,010.00	\$3,000.00	\$30,000.00	\$1,500.00	\$15,000.00	\$2,000.00	\$20,000.00
23	02110-03	Easement Access Road-14'Width, Installation and Removal	1,200	LF	\$280.00	\$336,000.00	\$125.00	\$150,000.00	\$180.00	\$216,000.00	\$200.00	\$240,000.00	\$125.00	\$150,000.00
24	02110-04	Easement Access Road-14'Width, Installation only	1,200	LF	\$250.00	\$300,000.00	\$80.00	\$96,000.00	\$125.00	\$150,000.00	\$100.00	\$120,000.00	\$80.00	\$96,000.00
25	02110-05	Easement Clearing, Light (Bush Hog)	12,000	SY	\$60.00	\$720,000.00	\$27.00	\$324,000.00	\$35.00	\$420,000.00	\$25.00	\$300,000.00	\$27.00	\$324,000.00
26	02110-06	Easement Clearing, Medium (Bush Hog & Chipper)	12,000	SY	\$75.00	\$900,000.00	\$32.00	\$384,000.00	\$43.00	\$516,000.00	\$50.00	\$600,000.00	\$32.00	\$384,000.00
27	02110-07	Easement Clearing, Heavy (Timbering Equipment)	3,000	Caliper	\$250.00	\$750,000.00	\$160.00	\$480,000.00	\$110.00	\$330,000.00	\$400.00	\$1,200,000.00	\$180.00	\$540,000.00
		Site Restoration & Erosion Control												
28	02273-01	Riprap, Type II (Installed)	125	SY	\$300.00	\$37,500.00	\$175.00	\$21,875.00	\$300.00	\$37,500.00	\$200.00	\$25,000.00	\$200.00	\$25,000.00
29	02273-02	Riprap, Type III (Installed)	125	SY	\$300.00	\$37,500.00	\$175.00	\$21,875.00	\$300.00	\$37,500.00	\$200.00	\$25,000.00	\$200.00	\$25,000.00
30	02276-01	Tree Protection Fence	1,000	LF	\$8.00	\$8,000.00	\$8.00	\$8,000.00	\$12.00	\$12,000.00	\$11.00	\$11,000.00	\$8.00	\$8,000.00
31	02276-02	Check Dam (Hay Bales)	50	EA	\$300.00	\$15,000.00	\$80.00	\$4,000.00	\$121.00	\$6,050.00	\$250.00	\$12,500.00	\$80.00	\$4,000.00
32	02276-03	Inlet Sediment Trap	50	EA	\$800.00	\$40,000.00	\$305.00	\$15,250.00	\$460.00	\$23,000.00	\$500.00	\$25,000.00	\$305.00	\$15,250.00
33	02276-04	Temporary Creek Crossing (≥12" and ≤ 15" diameter)	500	LF	\$250.00	\$125,000.00	\$132.00	\$66,000.00	\$200.00	\$100,000.00	\$500.00	\$250,000.00	\$132.00	\$66,000.00
34	02276-05	Temporary Creek Crossing (≥18" and ≤ 24" diameter)	250	LF	\$350.00	\$87,500.00	\$200.00	\$50,000.00	\$300.00	\$75,000.00	\$600.00	\$150,000.00	\$200.00	\$50,000.00
35	02276-06	Temporary Creek Crossing (36" diameter)	250	LF	\$375.00	\$93,750.00	\$305.00	\$76,250.00	\$450.00	\$112,500.00	\$700.00	\$175,000.00	\$305.00	\$76,250.00

Page 1

					VENDOR NAME		VENDOR NAME		VEND	OR NAME	VENDOR NAME		VENDO	DR NAME
Item No. Item Description Specification No.		-		Unit of Measure	Kemi Construction Company, Inc.		Southeast Pipe Survey, Inc.		Inliner Solutions, LLC		GS Construction, Inc.		SD&C, Inc.	
					Unit Price	Extended Bid Price	Unit Price	Extended Bid Price	Unit Price	Extended Bid Price	Unit Price	Extended Bid Price	Unit Price I	Extended Bid Price
36	02276-07	Temporary Creek Crossing (42" diameter)	120	LF	\$450.00	\$54,000.00	\$400.00	\$48,000.00	\$600.00	\$72,000.00	\$800.00	\$96,000.00	\$400.00	\$48,000.00
37	02276-08	Tree and Shrub Replacement -3 gal	100	EA	\$550.00	\$55,000.00	\$140.00	\$14,000.00	\$200.00	\$20,000.00	\$350.00	\$35,000.00	\$132.00	\$13,200.00
38	02276-09	Tree and Shrub Replacement -5 gal	100	EA	\$650.00	\$65,000.00	\$265.00	\$26,500.00	\$400.00	\$40,000.00	\$750.00	\$75,000.00	\$265.00	\$26,500.00
39	02276-10	Chain Link Fence (4 ft. height) Removal & Replacement	600	LF	\$75.00	\$45,000.00	\$48.00	\$28,800.00	\$73.00	\$43,800.00	\$50.00	\$30,000.00	\$48.00	\$28,800.00
40	02276-11	Chain Link Fence (6 ft. height) Removal & Replacement	600	LF	\$85.00	\$51,000.00	\$57.00	\$34,200.00	\$86.00	\$51,600.00	\$75.00	\$45,000.00	\$57.00	\$34,200.00
41	02276-12	Chain Link Fence (8 ft. height) Removal & Replacement	150	LF	\$95.00	\$14,250.00	\$75.00	\$11,250.00	\$114.00	\$17,100.00	\$85.00	\$12,750.00	\$75.00	\$11,250.00
42	02276-13	Wood Fence (4 ft. height) Removal and Replacement	600	LF	\$75.00	\$45,000.00	\$48.00	\$28,800.00	\$73.00	\$43,800.00	\$50.00	\$30,000.00	\$48.00	\$28,800.00
43	02276-14	Wood Fence (6 ft. height) Removal and Replacement	600	LF	\$85.00	\$51,000.00	\$57.00	\$34,200.00	\$86.00	\$51,600.00	\$75.00	\$45,000.00	\$57.00	\$34,200.00
44	02276-15	Wood Fence (8 ft. height) Removal and Replacement	150	LF	\$95.00	\$14,250.00	\$75.00	\$11,250.00	\$114.00	\$17,100.00	\$85.00	\$12,750.00	\$75.00	\$11,250.00
45	02324-01	Pavement Sawcutting, 1"-8" thick G-005	5,000	LF	\$15.00	\$75,000.00	\$27.00	\$135,000.00	\$37.00	\$185,000.00	\$50.00	\$250,000.00	\$27.00	\$135,000.00
46	02324-02	Pavement Sawcutting additional 1"-4" beyond 8" thickness	2,000	LF	\$10.00	\$20,000.00	\$14.00	\$28,000.00	\$21.00	\$42,000.00	\$50.00	\$100,000.00	\$14.00	\$28,000.00
47	02324-03	Unsuitable Soil Replacement (Crusher Run)	1,000	CY	\$80.00	\$80,000.00	\$160.00	\$160,000.00	\$210.00	\$210,000.00	\$325.00	\$325,000.00	\$160.00	\$160,000.00
48	02324-04	Unsuitable Soil Replacement (Imported fill)	1,000	CY	\$70.00	\$70,000.00	\$160.00	\$160,000.00	\$210.00	\$210,000.00	\$275.00	\$275,000.00	\$160.00	\$160,000.00
49	02485-01	Sodding to match existing	1,200	SY	\$32.00	\$38,400.00	\$55.00	\$66,000.00	\$80.00	\$96,000.00	\$50.00	\$60,000.00	\$55.00	\$66,000.00
50	02486-01	Seeding to match existing	1,200	SY	\$18.00	\$21,600.00	\$46.00	\$55,200.00	\$70.00	\$84,000.00	\$20.00	\$24,000.00	\$46.00	\$55,200.00
51	02542-01	Silt Fence - Type C, Single Row	16,000	LF	\$8.00	\$128,000.00	\$10.00	\$160,000.00	\$13.50	\$216,000.00	\$5.00	\$80,000.00	\$9.50	\$152,000.00
52	02542-02	Silt Fence - Type C, Double Row	5,000	LF	\$16.00	\$80,000.00	\$19.00	\$95,000.00	\$28.00	\$140,000.00	\$10.00	\$50,000.00	\$19.00	\$95,000.00
		External Point Repairs												
53	02535-01	External Point Repair, 6" - 18" PVC, ≤ 12' Depth	800	EA	\$14,500.00	\$11,600,000.00	\$16,371.00	\$13,096,800.00	\$18,100.00	\$14,480,000.00	\$25,000.00	\$20,000,000.00	\$17,500.00	\$14,000,000.00
54	02535-02	External Point Repair, 6" - 18" PVC, ≤ 12' Depth, Additional LF > 12 LF Repair	100	LF	\$550.00	\$55,000.00	\$364.00	\$36,400.00	\$515.00	\$51,500.00	\$500.00	\$50,000.00	\$400.00	\$40,000.00
55	02535-03	External Point Repair, 6" - 18" PVC, > 12' - 20' Depth	50	EA	\$19,000.00	\$950,000.00	\$21,828.00	\$1,091,400.00	\$28,650.00	\$1,432,500.00	\$35,000.00	\$1,750,000.00	\$24,000.00	\$1,200,000.00
56	02535-04	External Point Repair, 6" - 18" PVC, > 12' - 20' Depth, Additional LF > 12 LF Repair	100	LF	\$750.00	\$75,000.00	\$546.00	\$54,600.00	\$770.00	\$77,000.00	\$600.00	\$60,000.00	\$600.00	\$60,000.00
57	02535-05	External Point Repair, >18" - 24" DIP, ≤ 12' Depth	10	EA	\$25,000.00	\$250,000.00	\$30,014.00	\$300,140.00	\$35,000.00	\$350,000.00	\$45,000.00	\$450,000.00	\$33,000.00	\$330,000.00
58	02535-06	External Point Repair, >18" - 24" DIP, ≤ 12' Depth, Additional LF > 12 LF Repair	60	LF	\$1,200.00	\$72,000.00	\$864.00	\$51,840.00	\$1,200.00	\$72,000.00	\$700.00	\$42,000.00	\$950.00	\$57,000.00
59	02535-07	External Point Repair, >18" - 24" DIP > 12' - 20' Depth	2	EA	\$28,000.00	\$56,000.00	\$54,570.00	\$109,140.00	\$75,000.00	\$150,000.00	\$50,000.00	\$100,000.00	\$60,000.00	\$120,000.00
60	02535-08	External Point Repair, >18" - 24" DIP > 12' - 20' Depth, Additional LF > 12 LF Repair	10	LF	\$1,500.00	\$15,000.00	\$1,092.00	\$10,920.00	\$1,500.00	\$15,000.00	\$800.00	\$8,000.00	\$1,200.00	\$12,000.00
61	02535-09	Add/Deduct cost for providing 6" DIP in lieu of PVC pipe	150	LF	\$200.00	\$30,000.00	\$85.00	\$12,750.00	\$110.00	\$16,500.00	\$200.00	\$30,000.00	\$85.00	\$12,750.00
62	02535-10	Add/Deduct cost for providing 8" DIP in lieu of PVC pipe	100	LF	\$275.00	\$27,500.00	\$86.00	\$8,600.00	\$115.00	\$11,500.00	\$225.00	\$22,500.00	\$86.00	\$8,600.00
63	02535-11	Add/Deduct cost for providing 10" DIP in lieu of PVC pipe	15	LF	\$300.00	\$4,500.00	\$90.00	\$1,350.00	\$120.00	\$1,800.00	\$250.00	\$3,750.00	\$90.00	\$1,350.00
64	02535-12	Add/Deduct cost for providing 12" DIP in lieu of PVC pipe	100	LF	\$375.00	\$37,500.00	\$92.00	\$9,200.00	\$120.00	\$12,000.00	\$275.00	\$27,500.00	\$92.00	\$9,200.00
65	02535-13	Add/Deduct cost for providing 15" DIP in lieu of PVC pipe	10	LF	\$450.00	\$4,500.00	\$92.00	\$920.00	\$125.00	\$1,250.00	\$300.00	\$3,000.00	\$92.00	\$920.00
66	02535-14	Add/Deduct cost for providing 18" DIP in lieu of PVC pipe	60	LF	\$475.00	\$28,500.00	\$92.00	\$5,520.00	\$135.00	\$8,100.00	\$325.00	\$19,500.00	\$92.00	\$5,520.00
67	02535-15	Add/Deduct cost for providing 20" DIP in lieu of PVC pipe	2	LF	\$485.00	\$970.00	\$92.00	\$184.00	\$145.00	\$290.00	\$350.00	\$700.00	\$92.00	\$184.00
68	02535-16	Add/Deduct cost for providing 24" DIP in lieu of PVC pipe	10	LF	\$550.00	\$5,500.00	\$92.00	\$920.00	\$155.00	\$1,550.00	\$375.00	\$3,750.00	\$92.00	\$920.00
69	02535-17	Service Lateral Reconnect 4"-6" Diameter - ≤ 12' Depth	35	EA	\$2,750.00	\$96,250.00	\$9,006.00	\$315,210.00	\$10,500.00	\$367,500.00	\$1,000.00	\$35,000.00	\$9,000.00	\$315,000.00
70	02535-18	Service Lateral Reconnect 4"-6" Diameter - > 12' - 20' Depth	15	EA	\$3,500.00	\$52,500.00	\$12,508.00	\$187,620.00	\$11,500.00	\$172,500.00	\$1,500.00	\$22,500.00	\$12,500.00	\$187,500.00
71	02535-19	Reconnect/Replacement Additional LF (Over 12/16' Length), Any Depth	500	LF	\$350.00	\$175,000.00	\$250.00	\$125,000.00	\$320.00	\$160,000.00	\$1,500.00	\$750,000.00	\$250.00	\$125,000.00
		Internal Point Repairs												
72	02520-01	Internal Pipe Point Repair with CIPP, 6" - 8" Diameter, minimum thickness	50	EA	\$8,500.00	\$425,000.00	\$5,297.00	\$264,850.00	\$6,250.00	\$312,500.00	\$5,700.00	\$285,000.00	\$6,000.00	\$300,000.00
73	02520-02	6" - 8" Pipe Point Repair CIPP additional 1 mm	50	LF	\$750.00	\$37,500.00	\$29.00	\$1,450.00	\$35.00	\$1,750.00	\$1,200.00	\$60,000.00	\$20.00	\$1,000.00
74	02520-03	Internal Pipe Point Repair with CIPP, 10" Diameter, minimum thickness	25	EA	\$9,500.00	\$237,500.00	\$6,180.00	\$154,500.00	\$7,250.00	\$181,250.00	\$6,900.00	\$172,500.00	\$6,100.00	\$152,500.00
75	02520-04	10" Pipe Point Repair w/ CIPP additional 1mm thickness	50	LF	\$850.00	\$42,500.00	\$35.00	\$1,750.00	\$43.00	\$2,150.00	\$1,200.00	\$60,000.00	\$26.00	\$1,300.00
76	02520-05	Internal Pipe Point Repair with CIPP, 12" Diameter, minimum thickness	15	EA	\$12,000.00	\$180,000.00	\$7,652.00	\$114,780.00	\$9,000.00	\$135,000.00	\$8,700.00	\$130,500.00	\$7,500.00	\$112,500.00
77	02520-06	12" Pipe Point Repair w/ CIPP additional 1mm thickness	50	LF	\$950.00	\$47,500.00		\$2,050.00	\$49.00		\$1,200.00	\$60,000.00	\$30.00	\$1,500.00
78	02520-07	Internal Pipe Point Repair with CIPP, 15" Diameter, minimum thickness	10	EA	\$13,000.00	\$130,000.00		\$88,290.00	\$10,500.00	\$105,000.00	\$10,200.00	\$102,000.00	\$9,000.00	\$90,000.00
79	02520-08	15" Pipe Point Repair w/ CIPP additional 1mm thickness	500	LF	\$1,200.00	\$600,000.00		\$23,500.00	\$56.00		\$1,800.00	\$900,000.00	\$30.00	\$15,000.00
80	02520-09	Internal Pipe Point Repair with CIPP, 18" Diameter, minimum thickness	25	EA	\$18,000.00	\$450,000.00	\$10,242.00	\$256,050.00	\$12,250.00		\$11,700.00	\$292,500.00	\$10,800.00	\$270,000.00
81	02520-10	18" Pipe Point Repair w/ CIPP additional 1mm thickness	500	LF	\$1,200.00	\$600,000.00		\$26,500.00	\$63.00		\$2,400.00	\$1,200,000.00	\$40.00	\$20,000.00
<u> </u>			1 300		Ç1,200.00	4000,000.00	755.00	Ç20,500.00	703.00	Ç31,300.00	72,100.00	72,200,000.00	Ş-10.00	Q20,000.00

Prepared by 3/16/2023 Page 2

Item No. Specification No.			Estimated	Unit of	VENDOR NAME		VENDOR NAME		VENDOR NAME		VENDOR NAME		VENDOR NAME	
		Item Description		Measure	Inc.		Southeast Pipe Survey, Inc.		Inliner Solutions, LLC		GS Construction, Inc.		SD&C, Inc. Unit Price Extended Bid Price	
02	02520.44			- FA	Unit Price	Extended Bid Price	Unit Price	Extended Bid Price		Extended Bid Price		Extended Bid Price		
82	02520-11	Internal Pipe Point Repair with CIPP, 20" - 24" Diameter, minimum thickness	5	EA	\$23,000.00	\$115,000.00			\$17,500.00	\$87,500.00	\$15,000.00	\$75,000.00	\$15,000.00	\$75,000.00
83	02520-12	20" -24" Pipe Point Repair w/ CIPP additional 1mm thickness	500	LF	\$1,200.00	\$600,000.00	\$59.00		\$70.00	\$35,000.00	\$2,400.00	\$1,200,000.00	\$50.00	\$25,000.00
84	02521-01	Internal Pipe Point Repair with Infrastructure Repair System, 6" - 8" Diameter	50	EA	\$8,500.00	\$425,000.00			\$7,400.00	\$370,000.00	\$5,700.00	\$285,000.00	\$6,100.00	\$305,000.00
85	02521-02	Internal Pipe Point Repair with Infrastructure Repair System, 10" Diameter	25	EA	\$9,500.00	\$237,500.00			\$9,500.00	\$237,500.00	\$6,900.00	\$172,500.00	\$6,200.00	\$155,000.00
86	02521-03	Internal Pipe Point Repair with Infrastructure Repair System, 12" Diameter	5	EA	\$12,000.00	\$60,000.00			\$11,000.00	\$55,000.00	\$8,700.00	\$43,500.00	\$7,600.00	\$38,000.00
87	02521-04	Internal Pipe Point Repair with Infrastructure Repair System, 15" Diameter	5	EA	\$15,000.00	\$75,000.00			\$12,500.00	\$62,500.00	\$10,200.00	\$51,000.00	\$9,100.00	\$45,500.00
88	02521-05	Internal Pipe Point Repair with Infrastructure Repair System, 18" Diameter	25	EA	\$20,000.00	\$500,000.00			\$15,000.00	\$375,000.00	\$11,700.00	\$292,500.00	\$11,000.00	\$275,000.00
89	02521-06	Internal Pipe Point Repair with Infrastructure Repair System, 20" - 24" Diameter	25	EA	\$24,000.00	\$600,000.00			\$18,310.00	\$457,750.00	\$15,000.00	\$375,000.00	\$16,000.00	\$400,000.00
90	02521-07	IPR - Additional Footage 6"-8"	500	LF	\$750.00	\$375,000.00	\$118.00	\$59,000.00	\$200.00	\$100,000.00	\$1,200.00	\$600,000.00	\$21.00	\$10,500.00
91	02521-08	IPR - Additional Footage 10"	100	LF	\$850.00	\$85,000.00	\$118.00	\$11,800.00	\$300.00	\$30,000.00	\$1,200.00	\$120,000.00	\$27.00	\$2,700.00
92	02521-09	IPR - Additional Footage 12"	100	LF	\$950.00	\$95,000.00	\$118.00	\$11,800.00	\$425.00	\$42,500.00	\$1,200.00	\$120,000.00	\$31.00	\$3,100.00
93	02521-10	IPR - Additional Footage 15"	250	LF	\$1,200.00	\$300,000.00	\$118.00	\$29,500.00	\$550.00	\$137,500.00	\$1,800.00	\$450,000.00	\$32.00	\$8,000.00
94	02521-11	IPR - Additional Footage 18"	500	LF	\$150.00	\$75,000.00	\$118.00	\$59,000.00	\$675.00	\$337,500.00	\$2,400.00	\$1,200,000.00	\$41.00	\$20,500.00
95	02520-12	IPR - Additional Footage 20" - 24"	500	LF	\$250.00	\$125,000.00	\$118.00	\$59,000.00	\$800.00	\$400,000.00	\$2,400.00	\$1,200,000.00	\$51.00	\$25,500.00
		Manhole Rehabilitation												
96	02607-01	Sewer Manhole Height Adjustment ≤ 12"	350	EA	\$1,500.00	\$525,000.00	\$2,900.00	\$1,015,000.00	\$2,000.00	\$700,000.00	\$1,500.00	\$525,000.00	\$1,500.00	\$525,000.00
97	02607-02	Sewer Manhole Height Adjustment > 12"	200	VF	\$1,500.00	\$300,000.00	\$2,300.00	\$460,000.00	\$2,500.00	\$500,000.00	\$800.00	\$160,000.00	\$300.00	\$60,000.00
98	02607-03	Replace Frame & Cover, 24" Diameter	10	EA	\$1,200.00	\$12,000.00	\$1,766.00	\$17,660.00	\$3,000.00	\$30,000.00	\$1,000.00	\$10,000.00	\$1,300.00	\$13,000.00
99	02607-04	Locate and Expose Buried Manhole, Street	270	EA	\$1,750.00	\$472,500.00	\$2,354.00	\$635,580.00	\$3,200.00	\$864,000.00	\$700.00	\$189,000.00	\$800.00	\$216,000.00
100	02607-05	Locate and Expose Buried Manhole, Non-Street	340	EA	\$1,750.00	\$595,000.00	\$2,119.00	\$720,460.00	\$2,550.00	\$867,000.00	\$1,200.00	\$408,000.00	\$600.00	\$204,000.00
101	02609-01	Manhole Frame Sealing	30	EA	\$900.00	\$27,000.00	\$530.00	\$15,900.00	\$800.00	\$24,000.00	\$945.00	\$28,350.00	\$80.00	\$2,400.00
102	02900-01	Sewer Manhole, Rebuild Invert and Bench	60	EA	\$3,000.00	\$180,000.00	\$1,413.00		\$1,950.00	\$117,000.00	\$1,575.00	\$94,500.00	\$1,800.00	\$108,000.00
103	02900-02	Manhole Sealing and Patching, 48" Diameter	200	SY	\$1,100.00	\$220,000.00	\$235.00	\$47,000.00	\$300.00	\$60,000.00	\$1,020.00	\$204,000.00	\$250.00	\$50,000.00
104	02900-03	Cementitious Manhole Lining, 48" Diameter	800	VF	\$550.00	\$440,000.00			\$400.00	\$320,000.00	\$480.00	\$384,000.00	\$320.00	\$256,000.00
105	02900-04	Epoxy Coating, 48" Diameter	800	VF	\$750.00	\$600,000.00	·		\$800.00	\$640,000.00	\$1,020.00	\$816,000.00	\$500.00	\$400,000.00
106	02900-05	Manhole Sealing and Patching, 60" Diameter	200	SY	\$1,100.00	\$220,000.00			\$345.00	\$69,000.00	\$1,020.00	\$204,000.00	\$300.00	\$60,000.00
107	02900-06	Cementitious Manhole Lining, 60" Diameter	800	VF	\$650.00	\$520,000.00			\$575.00	\$460,000.00	\$570.00	\$456,000.00	\$360.00	\$288,000.00
108	02900-07	Epoxy Coating, 60" Diameter	800	VF	\$750.00	\$600,000.00	\$725.00		\$900.00	\$720,000.00	\$950.00	\$760,000.00	\$650.00	\$520,000.00
100	02300 07	Paving Restoration	000	71	\$750.00		ψ723.00	\$300,000.00	ψ300.00	ψ120,000.00	-	φ7 00,000.00	φοσο.σο	φ320,000.00
109	02700-01	Road Pavement Patch, with Concrete Cap (DOT Standard)	4,000	SY	\$175.00	\$700,000.00	\$260.00	\$1,040,000.00	\$355.00	\$1,420,000.00	\$125.00	\$500,000.00	\$270.00	\$1,080,000.00
110	02700-01	Road Pavement Patch, (County Standard)	1,000	SY	\$175.00	\$180,000.00			\$330.00	\$330,000.00	\$165.00	\$165,000.00	\$240.00	\$240,000.00
111	02700-02	Specialty Brick Paver/Sidewalk Replacement	200	SY	\$180.00	\$59,000.00	·		\$450.00	\$90,000.00	\$65.00	\$103,000.00	\$325.00	\$65,000.00
112	02700-04	Asphaltic Concrete Driveway Replacement, Residential & Commercial 6" thick	500	SY	\$180.00	\$90,000.00	\$295.00		\$420.00	\$210,000.00	\$110.00	\$55,000.00	\$323.00	\$150,000.00
 			 		·								·	· · · · ·
113	02700-06	Asphaltic Concrete Driveway Replacement, Residential & Commercial - Additional 2" lift	250	SY	\$40.00	\$10,000.00		· · ·	\$105.00	\$26,250.00	\$125.00	\$31,250.00	\$75.00	\$18,750.00
114	02710-01	Concrete Driveway Replacement, 6"	1,500	SY	\$175.00	\$262,500.00			\$175.00	\$262,500.00	\$85.00	\$127,500.00	\$132.00	\$198,000.00
115	02710-02	Concrete Driveway Replacement, 8"	500	SY	\$225.00	\$112,500.00			\$214.00	\$107,000.00	\$90.00	\$45,000.00	\$152.00	\$76,000.00
117	02710-03	6" x 24" Concrete Curb & Gutter, Remove and Replace	500	LF	\$75.00	\$37,500.00			\$141.00	\$70,500.00	\$45.00	\$22,500.00	\$100.00	\$50,000.00
118	02710-04	8" x 30" Concrete Curb & Gutter, Remove and Replace	500	LF 	\$85.00	\$42,500.00		· · ·	\$141.00	\$70,500.00	\$50.00	\$25,000.00	\$100.00	\$50,000.00
119	02710-05	Granite Curb, Remove and Reset	500	LF	\$75.00	\$37,500.00		· · ·	\$56.00	\$28,000.00	\$50.00	\$25,000.00	\$40.00	\$20,000.00
116	02710-06	Concrete Sidewalk Replacement, 4"	1,000	SY	\$95.00	\$95,000.00	\$150.00	\$150,000.00	\$211.00	\$211,000.00	\$85.00	\$85,000.00	\$150.00	\$150,000.00
		Sanitary Sewer & Manhole Cleaning									_			
120	02956-01	Heavy Cleaning, ≤ 8" Diameter Pipe	41,000	LF	\$15.00	\$615,000.00			\$3.00	\$123,000.00	\$6.00	\$246,000.00	\$6.60	\$270,600.00
121	02956-02	Heavy Cleaning, > 8' - 18" Diameter Pipe	10,000	LF	\$28.00	\$280,000.00	\$12.00		\$5.00	\$50,000.00	\$17.00	\$170,000.00	\$16.00	\$160,000.00
122	02956-03	Heavy Cleaning, > 18' - 24" Diameter Pipe	5,000	LF	\$45.00				\$6.00	\$30,000.00	\$30.00	\$150,000.00	\$22.00	\$110,000.00
123	02956-04	Cleaning & Verification <15% Average Cross Section Area Blockage, 18"-36" Diameter	120,000	LF	\$30.00				\$6.00	\$720,000.00	\$30.00	\$3,600,000.00	\$8.00	\$960,000.00
124	02956-05	Cleaning & Verification <15% - 25% Average Cross Section Area Blockage, 18"-36" Diameter	30,000	LF	\$35.00	\$1,050,000.00	\$12.00	\$360,000.00	\$8.00	\$240,000.00	\$30.00	\$900,000.00	\$8.20	\$246,000.00
125	02956-06	Cleaning & Verification >25% Average Cross Section Area Blockage, 18"-36" Diameter	15,000	LF	\$48.00	\$720,000.00	\$21.00	\$315,000.00	\$8.00	\$120,000.00	\$39.00	\$585,000.00	\$12.00	\$180,000.00
126	02956-07	Cleaning & Verification <15% Average Cross Section Area Blockage, >36" Diameter	10,000	LF	\$60.00	\$600,000.00	\$12.00	\$120,000.00	\$15.00	\$150,000.00	\$58.00	\$580,000.00	\$16.00	\$160,000.00

Prepared by 3/16/2023 Page 3

Item No.	Specification No.	Item Description	Estimated Quantity	Unit of Measure	VENDOR NAME Kemi Construction Company, Inc.		VENDOR NAME Southeast Pipe Survey, Inc.		VENDOR NAME Inliner Solutions, LLC		VENDOR NAME GS Construction, Inc.		VENDOR NAME SD&C, Inc.	
					Unit Price	Extended Bid Price	Unit Price	Extended Bid Price	Unit Price	Extended Bid Price	Unit Price	Extended Bid Price	Unit Price	Extended Bid Price
127	02956-08	Cleaning & Verification <15% - 25% Average Cross Section Area Blockage, >36" Diameter	2,500	LF	\$78.00	\$195,000.00	\$28.00	\$70,000.00	\$18.00	\$45,000.00	\$62.00	\$155,000.00	\$17.50	\$43,750.00
128	02956-09	Cleaning & Verification >25% Average Cross Section Area Blockage, >36" Diameter	5,000	LF	\$78.00	\$390,000.00	\$35.00	\$175,000.00	\$24.00	\$120,000.00	\$67.00	\$335,000.00	\$25.00	\$125,000.00
129	02956-10	Manhole Debris Removal and Disposal	50	CY	\$750.00	\$37,500.00	\$294.00	\$14,700.00	\$1,039.00	\$51,950.00	\$260.00	\$13,000.00	\$460.00	\$23,000.00
		Division 2 - Site Work												
		Cured Place Pipe												
130	02500-01	Cured-In-Place Pipe, 8" Diameter, minimum thickness	210,000	LF	\$112.00	\$23,520,000.00	\$85.00	\$17,850,000.00	\$77.00	\$16,170,000.00	\$70.00	\$14,700,000.00	\$95.00	\$19,950,000.00
131	02500-02	CIPP 8", Additional 1 mm thickness	500	LF	\$8.00	\$4,000.00	\$2.00	\$1,000.00	\$2.00	\$1,000.00	\$3.25	\$1,625.00	\$2.60	\$1,300.00
132	02500-03	Cured-In-Place Pipe, 10" Diameter, minimum thickness	44,000	LF	\$130.00	\$5,720,000.00	\$82.00	\$3,608,000.00	\$80.00	\$3,520,000.00	\$78.00	\$3,432,000.00	\$100.00	\$4,400,000.00
133	02500-04	CIPP 10", Additional 1 mm thickness	500	LF	\$9.00	\$4,500.00	\$2.00	\$1,000.00	\$2.00	\$1,000.00	\$4.00	\$2,000.00	\$2.60	\$1,300.00
134	02500-05	Cured-In-Place Pipe, 12" Diameter, minimum thickness	46,000	LF	\$150.00	\$6,900,000.00	\$120.00	\$5,520,000.00	\$90.00	\$4,140,000.00	\$94.00	\$4,324,000.00	\$140.00	\$6,440,000.00
135	02500-06	CIPP 12", Additional 1 mm thickness	500	LF	\$12.00	\$6,000.00	\$2.00	\$1,000.00	\$3.00	\$1,500.00	\$5.25	\$2,625.00	\$4.00	\$2,000.00
136	02500-07	Cured-In-Place Pipe, 15" Diameter, minimum thickness	80,000	LF	\$185.00	\$14,800,000.00	\$195.00	\$15,600,000.00	\$105.00	\$8,400,000.00	\$137.00	\$10,960,000.00	\$210.00	\$16,800,000.00
137	02500-08	CIPP 15" dia, Additional 1mm thickness	500	LF	\$15.00	\$7,500.00	\$2.00	\$1,000.00	\$4.00	\$2,000.00	\$6.50	\$3,250.00	\$4.00	\$2,000.00
138	02500-09	Cured-In-Place Pipe, 18" Diameter, minimum thickness	4,000	LF	\$210.00	\$840,000.00	\$240.00	\$960,000.00	\$175.00	\$700,000.00	\$227.00	\$908,000.00	\$270.00	\$1,080,000.00
139	02500-10	CIPP 18" dia, Additional 1mm thickness	500	LF	\$24.00	\$12,000.00	\$2.00	\$1,000.00	\$7.00	\$3,500.00	\$13.00	\$6,500.00	\$6.60	\$3,300.00
140	02500-11	Cured-In-Place Pipe, 20" Diameter, minimum thickness	4,000	LF	\$280.00	\$1,120,000.00	\$250.00	\$1,000,000.00	\$232.00	\$928,000.00	\$242.00	\$968,000.00	\$272.00	\$1,088,000.00
141	02500-12	CIPP 20" dia, Additional 1mm thickness	500	LF	\$24.00	\$12,000.00	\$2.00	\$1,000.00	\$7.00	\$3,500.00	\$14.50	\$7,250.00	\$6.70	\$3,350.00
142	02500-13	Cured-In-Place Pipe, 24" Diameter, minimum thickness	4,000	LF	\$385.00	\$1,540,000.00	\$385.00	\$1,540,000.00	\$365.00	\$1,460,000.00	\$299.00	\$1,196,000.00	\$450.00	\$1,800,000.00
143	02500-14	CIPP 24" dia, Additional 1mm thickness	500	LF	\$24.00	\$12,000.00	\$2.00	\$1,000.00	\$8.00	\$4,000.00	\$17.00	\$8,500.00	\$8.00	\$4,000.00
144	1020	Owner's Allowance (10%)	1	LS										
Number of	f Bids Received: 5													
	cipation Benchmarl				Yes		Yes		Yes		Yes		Yes	
	e at the Mandatory Sealed Price Schedu	y LSBE Meeting (Yes/No)			Yes Yes			Yes Yes		Yes Yes	Yes Yes		Yes Yes	
		er Areas Outside of Separate Sealed Envelope (Yes/No)				Yes No			No No			No		No

NOTES - DETAIL JUSTIFICATION

Witness			
Procurement Agent			

Prepared by 3/16/2023 Page 4